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Semantics the study of the conventional literal meaning,
Pragmatics the study of the interactional intended meaning.

semantics is mainly concerned with a speaker’s competence to use the language
system, the chief pragmatics is a person’s ability to derive meaning from specific
kinds of speech situations

aigy s¢d elilac )l Lol AalS i jall inally g ¢ inally aigs AV of elalac )l 5 VAl (5,40
i) g oy QLA DA e irall Jgea gl ¢ nall J gaa sl LK 038y S il 5 adaiilly
2oall rall g imall lloa g g AT gy lay 40Y 8 sl

Utterance vs. Sentence:

An utterance is an event that happens just once; a sentence is a construction of words
in a particular meaningful sequence.

The meaning of a sentence is determined by the meanings of the individual words
and the syntactic construction in which they occur.

The meaning of an utterance is the meaning of the sentence plus the meanings of the

circumstances: the time and place, the people involved, (the physical-social context).
el Ul Jia sy OS) uaitie (558 a8 a0 ) gl gy V8 pe iy iaa DS ALl el g 23U (g0 (5 A
A i) ae ) gall aladiily ama Juadedi 8 LIS s 5 Aleadl 5 e cpiima Gle g QS ol o g
e 2SN ine agii] daadiuall (3 k) aey Gllia

e Implicature:
An additional meaning; a bridge constructed by the hearer to relate one

utterance to some previous utterance (unconsciously).

(I aaall Ao i WiSI 3 58l e 48y oy ddle Cuad Jl g Lo 2ad Wlly Ladie Ulal : Jiaual) sl
rJle L ya 3 ad ) (e a2 0 01 e il sadl agdan Ua Jiluallé




Barbara: How did you do on the examination?
Adam: I think I’ll just drop this course.

ol il la (a1 aedll (ST Adlide aila) (ST e 5l i G (i i € el OIS oS ) s 4l

e Prosody: A spoken utterance consists of more than just words. In speech,
meanings are communicated not only by what is said but also by how it is said.

S jall g il puaYl AiSIL Bl (i o Wil 5 JIas Lo G Leilaa 5 lalSIL Jash (Blay Y 1 s pall ale
13 5 23 jie Caaaiall alafie g cdpmas Caaiall 1) e g

e Non-verbal communication:
There are some ways of using the voice including e.qg., laughing, giggling, and
crying that are vocal but not verbal. These are called paralanguage.
Similarly, there are visible signs, gestures, ‘body language’—which possibly

create an effect on the interpretation of a spoken message.
Lisdass L sy sl aDASI) e ) el 03 lazall ¢ o5 5511 Jia il gua¥) cclelagy) Jie 1 dadlll e Juas¥)
pen (s ginall (3 ATl 3 ) oS00 ) W e 5 S ) by S LB 55 a8 alaliall (g Lgagdl Aaal 5 Ala)
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1. The meaning of an utterance is determined by means of
(Sl e ol S @SN ire paa

a. The individual words and the syntactic construction

b. The sentence in addition to the physical-social content
c. The construction of words in a particular meaningful

d. The meaning of the utterance only

2. To determine the pragmatic meaning of sentence, need to know .....

a. The meaning of the sentence in the physical-social content

b. The individual words and the syntactic construction which they occur. v
c. The direct message of articular sequence of words

d. The semantic side of the sentence.




3. how can you determine the meaning of a an utterance as “ I’'m hungry “ ?
a. Thought the meaning of the sentence only
b. Thought the individual words and grammatical construction in which they occur

c. Thought the meaning of the sentence in addition to the physical-social context v
=iy galall Glually aday ) 5 cixall agd
d. Thought the construction of words in particular meaningful together

4. How can we determine literal meaning of a sentence ?

a. Through the meaning of the sentence in the physical —social context

b. Through the individual words and syntactic construction in which they
c. Through the hidden message of a particular sequence of words

d. Through the pragmatic side of the sentence

foal) aran GiiSlu Baa g Allal g dda (pa JASL 3,0 JU) Jliged) o
o S, Is identified as change in intonation and stress while
speaking
e Which of followings has tones would possibly change the interpretation of a
spoken message?
e [t can be identified as changing the stress and the falling and rising tone while
speaking . What is it ?
e In speech, meaning are communicated not only by what is said but also by how
it is said. An example of that is .....
a. Non-verbal communication
b. prosody
C. prototype
d. Implicature

(B8l e Juaiy) Jo o ginally ALY e AN day ) ALiad)

*6. Shrugging the shoulders is a visual sign that could be equivalent
1 13l il g e oSl oy s

a. | disapprove it

b. I dislike it

c. | don't know V alei ¥

d. | forgot to do it

**7. Slapping your forehead with the palm of your hand is a visual sign that could be
equivalent to saying .

N Fmg 13l lay eliga o jua

a. “ I am sleepy “

b. « I forgot  V < Al

c. “ I smell something “

d. “ I don’t know




***8. Nodding the head in response to an utterance is a visual sign that can be
equivalent to saying
2 13l 23S) e 3l die I 8

a. It's bad
b. | approve it \ (il se Ul
c. | don't like it

d. I smell something

****9. Pretending to yawn , with finger tips in front of mouth is a visual sign could be

equivalent to saying ...

1 i 13le aaf e Canty Larie oyl
a. ““ I smell something bad”

b. “Tam bored ” V Jlally yil

c. “I approve that ”
d. “ I forgot to do it”

10. Although both semantics and pragmatics are concerned with meaning .pragmatics
is focused more on ....

a. the conventional meaning (sl el

b. the literal meaning sl (sixal

c. the intended meaning v 2 swaial) Jiadll

d. the grammatical meaning ¢ s>l (sixal

11. Connecting one utterance to another previous utterance unconsciously is known as

Gl J oy J 58 oy )y (el 2SI Ciy 2l e
a. Prototype

b. Gesture

c. Collocation

d. Implicate

12. What is implicature ?

a. Two different written words that have the same exact pronunciation. (Homophones
iy )

b. A bridge constructed by the hearer to relate one utterance to previous utterance.V
c¢. A word whose meaning included in the meaning of another general word.(
Hyponym<i »i)

d. A spoken utterance which consists of more than just words.( Prosody<—a: »=5)




13. Language speakers can say one thing and mean another thing through

(utterance SN (e (Small Cay jai ) JAT Ul dn G giay g o 5 (5l s8 3B ) gaaial)

a. The usual meaning of a word or a sentence

b. What words mean in the dictionary

c. The meaning that a word or a sentence has in specific contexts or circumstances v
d. What sentences mean without looking the context

14. Using body language while interacting with other is also known as ...
oan 13La 2l Al ladia)

a. communicating via prosody

b. communicating via Paralanguage

c. communicating via Implicature

d. communicating via gesture

15. Sarah: Would you like to go shopping tomorrow night?

Asma: We have guests coming from out of town.

What is the meaning of this dialogue ?

¢ Boladl sda (e Srall 5o La

a. That Asma will go shopping with the guest. < ssall g (3 seill Caa Xis ¢ Lol

b. That Asma will go shopping with Sarah s s g (8 gusill Yo elawsl

c. That Asma will not be able to go shopping tomorrow. V 1x ¢ suill Cladll apkaias ¥ ¢ lawd
d. That Sarah is invited to Asma's house stesl J 3l 3 5030 5 jls

16. When a speaker is being vocal but not verbal ; that is known as ...
a. gesture

b. paralanguage V

c. implicature

d. body language

17. All the following are examples of paralanguage except for :
a. Nodding

b. Laughing

c. Giggling

d. Crying
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Semantic Relations Among words
In everyday talk, we frequently give the meanings of words, not in terms of their
component features, but in terms of their relationships.

A8l Cua (e Lai) 5 Al palic O e Cua (e QLT e aed LS ZaIY ) cilEBal)
pealaall a3 Lghe Hins Al 3 i CEDal) 038 (pa g LS

Semantic definition Example
Relations
are two or more forms with very broad / wide, almost/
closely related meanings, which are | nearly, cab / taxi, youth /
often, but not always, adolescent, purchase / buy.
interchangeable in sentences Cathy had only one answer
Jhaiul (8ay Blaal s Fnall (e 4 8 IS | correct on the testy
Synonymy

il jal) AsNle

daall 2 s AYL K
There is no “total sameness”
o8 333 AU () o5 a8 JalSIL (3t an g0 Y
“ oAl dlea
Synonyms differ in formality
LAY . Caliss cilial all

Cathy had only one reply
correct on the test x odd
My father purchased a
large automobile (in
formal)

my dad bought a big car

Antonymy
Ll d3Me

Two forms with opposite meanings
xall & lialata GlillS

Gradable antonyms can be used in
comparative construction
A laa) 3 Lgaaiiasi (ol Sy paill ALY
The negative of one member of the
pair does not imply the other
SJJJAQ%‘X;‘;ZQQ M\.‘\A\gﬂ
ade Gty alins (e ¢

non-gradable antonym, the negative
of one does indeed imply the other
st e Coialkl) aa & il AL )
ale (ulay Waline e O 85 pally (g
Reversives mean not negative but to
do the reverse
lenSe Jae Lail g il i Y ClusSlaidll

quick/slow, rich/poor,
old/young , alive/dead,
true/false

bigger than/smaller than

He is not old does not
imply He is young
Qi Jm Y sae

He is not dead means He is
alive
> 4 S 138 Cua Gl

tie/untie, enter/exit,
pack/unpack,
lengthen/shorten,
raise/lower, dress/undress




Hyponymy
£ AL Jual) ABde

the meaning of form is included in
the meaning of another
¢ sas cJadil 5 g acf Jual (panm dpe 3 4K
sl e g sl sl Jia Jedl ) s
T Orgsie
s Jea¥) 5 hyponym (sews g il
superordinate

tulip is a hyponym of
flower, dog/animal,
Chihuahua/dog,
carrot/vegetable

cut, punch, shoot, and stab
hyponym of injure

When two or more different written
forms have the same pronunciation

meat/meet, flour/flower,
pail/pale, sew/so, see/sea,

Homophony Ay Hhall Gaty (sl ST alise (IS5 | bare/bear
ailal) e Ghaill ki el 3 Lalad sl (ylial)
aliia
When one form has two or more bank (of a river) — bank
unrelated meanings (financial institute), bat
v e . N . . - \ .. . M - .
**Homonymy Cnilide Guina (S At i Led (flying creature) — bat

cailadial) Jadlh) d3Me

o paall edll e 8 bank
sl @ s ¢ iléall hat
Gl ) AL ¢ 3bus race

(used in sport), race
(contest of speed) — race
(ethnic group), mole (on

**Polysemy
(Al daa5 A8

aAlall ) s ¢ L3 mole | skin-animal)
When one form has multiple head (the top of your
meanings that are all related by body/the top of a

extension,
i bagen T 5 Ba0eta lae L AalS
) Aty
AS,al A ads el sy Gl head
daall by pell o) (Dl ¢ S5 38 foot
SIS S slall ol (adall Gl s 3 run

company), foot (of a
person, of bed, of
mountain), run (person
does, water does, color
does).

¢ agin 3 A WS Homonymy, Polysemy iuail) (udi Lgd ¢lials Ul

OsSo U dabiana dpulia A OS] Saall (uds IS 13) s HOmonymy oems Uia alad caliag  Saal) (IS 1)

Polysemy

Homonymy (e la  2e ga ¢ pai i Jia (pilife uina Ld Gl 13) Date

Polysemy La cauwid o hll caliag o (Sl calisg (81 Lo padidly (il S

Date (a point in time) -Date (fleshy fruit) ,homonyms.
Date (on a letter)- Date (an appointment) - Date (a social meeting with someone),

polysemy.




B yalaall Ao ddlud) al oY) e Alic

1. The word race (as in the act of running competitively ) and race ( as in people
belonging in the same ethnic group)are recognized as .......

a. Synonymy

b. Homophony

c. Polysemy

d. Homonymy

2. The word The word bank ( the side of a river ) and bank ( the financial institute )
are recognized as .......

a. Synonymy

b. Homophony

c. Polysemy

d. Homonymy

3. What is the semantic / lexical relation between tulip and flower ? **(banana and
fruit )** carrot and vegetables

(& & daal 4832 ) jla SV 5l il oy AV A8de

a. Synonymy

b. Homophony

c. Hyponymy

d. Homonymy

4. What is the semantic / lexical relation between banana and fruit?
Aalisg danay (Galud) J) gl uds

a. Synonymy

b. Homophony

c. Hyponymy

d. Homonymy

5. What is the semantic / lexical relation between carrot and vegetables it?
AdliAa dapay @bl J) gl s

a. Synonymy

b. Homophony

c. Hyponymy

d. Homonymy

6. My father 40 years old ““ I can change “my father ““ into the synonym “ my dad “
ilnliall Jie CLICEN (i i i) il gall 8 QU5 i) e Ja a5 cHISED 3 el p (3l
a. in formality v

b. polite

c. impolite

d. none




7. " My father purchased a large automobile " | can change the sentence into " my dad
bought a big car " if | want to sound ...

Aalidg drvay (bl J) el udi

a. more formal

b. less formal

c. very polite

d. impolite

8. Identify the pair of non-gradable antonyms among the following
(AEe oo (Say V) paiill LB e

1. pack and unpack <luSlatia Lia 433)

2. rich and poor (s L&l s 4t el J &1 (San pamill L&

3. dead and alive V oo ST Cuas oo SV (a Jill (S0 Y paill Q6 e

4. quick and slow o Uil s aia g sl J 58l (Saa paill i

9. Identify the pair of non-gradable antonyms among the following
a. dress and undress

b. tall and short

c. male and female

d. old and young

10. One type of antonyms is called reversives .Which among the followings is
..example of reversives?

a. happy and unhappy

b. dress and undress V' sxa s ool e Jae ey

c. safe and unsafe

d. fair and unfair

11. One type of antonyms is called reversives .Which among the followings is
..example of reversives?

Gl LAY i ae ol Jhaal) i

a. happy and unhappy

b. pack and unpack

c. safe and unsafe

d. fair and unfair

12. "IRAQI HEAD SEEKS ARMS" What does this newspaper headline contain?
irall Calid, Y SUAl 4t o L8l (l ) ey Jla5 Head 4l

a. Hyponymy

b. Synonymy

c. Homonymy

d. Polysemy




13. " The head of the company needs a new secretary " What does this sentence
contain?

Alaal) jd pe Gilad) Jlsaadl (s

a. Hyponymy

b. Synonymy

c. Homonymy

d. Polysemy v

14. They are two or more different written form that have the same pronunciation what
are they ?

a. Homophones

b. Homonyms

c. Polysemy

d. Hyponyms

15. What is the semantic / lexical relation between meet and meat ?
a. Hyponymy

b. Synonymy

¢. Homophony

d. Homonymy

16. "Let's meet near the meat section " What is the lexical relation between meet and
meat ?

a. Synonymy

b. Hyponymy

c. Homonymy

d. Homophony

17. The word mole (that appears on skin) and mole (the animal) are recognized as ...
a. Synonymy

b. Homonymy

c. Homophony

d. Polysemy

18. What is the semantic / lexical relation between carrot and vegetables ?
a. Homonymy

b. Synonymy

¢. Homophony

d. Hyponymy

19. Identify the pair of non-gradable antonyms among the following
a. dress and undress

b. alive and dead

c. high and low

d. fast and slow




20 .One type of antonym is called reversive . Which among the following considered
an example of reversive?

a. fair and unfair

b. safe and unsafe

c. happy and unhappy

d. tie and untie V

22. "The chair of the English department is seeking a bilingual assistant ” What does
“chair” in this sentence involve¢

a. Hyponymy

b. Synonymy

c. Homonymy

d. Polysemy v

23. What is the semantic / lexical relation between buy and purchase¢
a. Synonymy v

b. Hyponymy

c. Homonymy

d. Homophony

24. The meaning of a word can be included under another word , in the case of
a. Polysemy

b. Synonymy

c. Hyponymy

d. Antonymy

25.What is the lexical relation between arm ( of person ) and arm ( of a chair) ?
a. Hyponymy

b. Synonymy

c. Polysemy

d. Homonymy

26. What is the semantic / lexical relation between shallow and deep ?
a. Synonymy

b. Hyponymy

c. Homonymy

d. Antonymy

27. This can be defined as " two or more forms with very closely related meanings,
which are often interchangeable in sentences" what is it ?

a. Polysemy

b. Synonymy v

c. Hyponymy

d. Antonymy
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Semantic features 4¥all &l jaal)

One helpful approach to study meaning could be by the means of accounting for the
“oddness” we experience when we read sentences:

The hamburger ate the boy. 11! sl s gl Jsi

The table listens to the radio. s sall 4 glall aaios

The horse is reading the newspaper. 3xad) laal) | i,

Lsad dana Aleal) 5S35 L 4o Jgmie o Jeld o3 Jady oy rama L gt Alaall € 53 () 60 Lavie
13 Y ol Lga Al gie Alaall Ja (VAN el ) ks o sy 3 Y 138 o1 synitactically good
semantically odd (se <l il s
damia ye WS (Slasmia i odle| Aty b LS
We need to determine the crucial semantic features that any noun must have in order to
be used as the subject of the verb ate. Such an element may be as general as “animate
being”.
We can then use this idea to describe part of the meaning of words as either having (+)
or not having (—) that particular feature.
() 5 (1) 0585 Wl a5 danlall YAl 2ass Gl Cang 4 sinall VYAl aaa]
J3alleda Jiaal & i s
Componential Analysis salia) Julas
The term componential analysis is a semantic approach which assumes that word
meaning can be described in terms of distinct components, many of which are
binary.
Components are qualities embedded in any word’s meaning, like the ones seen in
dictionary definitions.
o el yaling iy (0 S 2 stlaall ASH inll o m iy (5 53 5) (Y2 e 8 pealinl] il
LB.}.L:.\.\LLAQVJSA} “_ﬁzd\j\uu_)ﬁé.a c&\ﬁﬂﬂ\wmyc@ua&dﬁacuﬁucu)&m)mbs PR
G AY) e Gaby Y a8 sl e
03¢ ey Y OIS 1) () 3] 5 Lanall 03y ey OIS 1] (4) 3Lk 4l Cua (e inall la (S
iaall
alaall w3l Lae 1 The hamburger ate the boy
O ey UL —animate o S Gl 8 Y ¢ Jail) Caa g ledle Gudaiy o s sl 4K Jlas
+animate JdsU Juall sl K dda adde Gk Ley Jelal) Jaging
cciall (o oAl I edila by ¢ 3 (55 a8 dad all KU Ada Lo e Y Ciland) o3
Q8 aay ALY ra g 238 JS) lend) 213a3 DS i 53 5 sinall (8 Jgon 2a
We can also characterize the semantic features that are required in a noun in order for
it to appear as the subject of a particular verb.

&5 sn Laaaas o Ladl Sy s Jadll s GBilday 2 Jelill £ 50 58 Lo Ayl 2y € Cllasall paa iy 13lay
DHEAY il Aleal) b Jeld

The Is reading the newspaper. N [+human]
table, horse and ) S <l jla 3ac Lal il 138 +human Jel) of W sas dleall 38 &
(hamburger, Majed
Majed O sSiw gusaall JLEAYE Glad) sa Jeldll o Lual maal sl (e raay




The approach is only a start on analyzing the conceptual components of word
meaning, but it is not without problems.

For many words in a language, it may not be as easy to come up with neat components
of meaning. Nouns, such as advice, threat and warning

Lol 028 paaill g sl o ClalS Lal 638 5 paall g Al S ae Jaloil) 8 Jeus gl 138 3 jaall
83 s el das ilS ) Lglew ana oS0 Y

B palaal) o AGld) al oY) ¢pa Adiad
B pualaall 038 (ra i gad JS (A (g Jadd

(Lsie Ay & Lsad dasaua Jaad) JS ) Adaad) CiDIEA aa Agabliiia Aty A5DAYN ALy

. What is your opinion about this sentence? "My horse is reading newspaper " .
It is syntactically good but semantically odd. v

. It is syntactically odd but semantically good

It is both syntactically and semantically odd

. It is both syntactically and semantically good

o0 oo

. What is your opinion about this sentence? " The table ate the sandwich
It is syntactically good but semantically odd.

. It is syntactically odd but semantically good

It is both syntactically and semantically odd

. It is both syntactically and semantically good

o0 oTo N

3. What do you say about this sentence ? “ The horse is reading the potery book ”
a. It is syntactically odd but semantically good

b. It is both syntactically and semantically good

c. It is syntactically good but semantically odd.

d. It is both syntactically and semantically odd

Alaad) DA aa Agaliiia 40U Ay ) ALY

4. What are the semantic features required for the subject of the sentences
" IS going to marry Sarah this Friday "'

(&L 83 ) ¢ (HLS) 98B (31 al) o b (14 79 Siaes 400 Lag

a. [+Animate ,+ Human, +Female ,+Adult]

b. [+Animate ,+Human,-Female,-Adult]

c. [+Animate ,+ Human,-Female ,+Adult]

d. [+Animate ,+ Human, +Female ,-Adult]




5. What are the semantic features required for the subject of the sentences?
" is traveling with his wife to London this week *

(&0 83 (gl o iLS) Sl (B al) Aldag) pa Al 430 Ly

a. [+Animate ,+ Human, +Female ,+Adult]

b. [+Animate ,+Human,-Female,-Adult]

c. [+Animate ,+ Human,-Female ,+Adult]

d. [+Animate ,- Human,-Female ,+Adult]

6. What are the semantic features required for the subject of the sentences?
¢ is about to give birth to her second child this month . ”

(L (A ladl (A GilS) G588 (her child) Wiy 4 ot g5 Ly

a. [+Animate ,+ Human,-Female ,+Adult]

b. [+Animate ,+ Human, +Female ,+Adult] ¥

c. [+Animate ,+ Human,-Female ,-Adult]

d. [+Animate ,- Human,-Female ,+Adult]

7. What are the semantic features required for the subject of the sentences?
" will travel with Sarah to France for their honeymoon *

(&l 83 (il (g8 (B al) Al ga lusan A1 Lay

a. [+ Human, -Female , +Adult] ¥

b. [+Human, +Female, +Adult]

c. [+ Human,-Female , -Adult]

d. [- Human, -Female , +Adult]




Semantic/Thematic roles 4 s gall ANl ) g2y

day) ) B jpuaalaall

The "'roles' words fulfill within the situation described by sentence
The verb describes an action (kick).
The noun phrase (NP) in the sentence describes the roles of entities, such as people
and things, involved in the action.
We can identify a small number of semantic roles (also called "*thematic roles" for
these noun phrases).

Lgia Aals JS) (slaty Uima (2 8 el Alaal] b cmdn g A clalSl) 2 Ly dualy Sl 9aY)

IS i JS 5 Jia A8 jal) Ciuay 5y g3 Jadl) Diad
4 ddasi o g Jadl) 3¢y coald ) sl o) Qaldld CuilS o) g LS ) 53 il pandy) 3l

S asall ol o dlaal) B g0 Lt dalS IS5 cilalS (ra 9800 Alaa Jsb

Semantic/Thematic roles

The entity that performs an
action
O s ) dzdlly o sdy (3 D) s

typically human, also be non-
human entities that cause action, as
a natural force (the wind), a

agent (25 38 ) Jadl < | machine (A car), or creature (The
Jell dog)
o S Ll (ST (g8 Jeldl () Sy sale
ZLAS Axball (5 8 5 DUl gaall Jie 5 5
YY) g
the entity that is affected by the | The theme can also be an entity that
action is simply being described
theme Jadll e s (2l GASI 5o | (g pe Il Ciia s Laa LS (5 Ul
4 Jrdd) osls 4 dsnde fing (1 ol 4 ga 428 5
Jeld
el yea ilS 3 SN Jia the ball was red
instrument Th(_e entity used to perform an The boy czut the rope with a razor
e action Jaal) adadl dardiiiall 31aY) oo Lia 5 jalll

Jdll Jadl axdis ) 31aY)

Experiencer

The entity that has a feeling,

perception, or state
Cud s Al ) (ulasal G amy (SN

The boy feel sad
Did you hear that noise?
JsY) calady o 083 Jad 2a 5y Y Cpllial) 8

o _aall Jaiy ¥ A (sl adde (3Lh3 38 ) Jad B eoall yrdy 4S5 Uk Jady Y A1)
B all ol Jias Lad) g Jadll | ) < guall Jom g Jasd Uil Jadd Y sl Al
Location | The place where an action occurs | | put the pen on the table

28 sall Jrill 4 Es 2 S Jnill 18 5all & 4 glal)

source The starting point for movement | We drove from Jeddah to Abha
Jkaall Lea Lalim) ) Ayl ddads cargll o Ll g paaall a4 saa
goal The endpoint for movement from all G Ll Haad) as
gl Led) gl ) 4l ddass 10 Ll o Ll Caagd) aa g




s saally Lgle g pal) ¢Sy AalS gl J\{ACX’\ Cls s giaall b L) 22 g5
dgaliia Alia) o (o giad 4001 ALiaY) (Y U Lgd il ¢

B yalaall Ao ddlud) al oY) e Alic

Alaal) odgy (glas ANl day ) ALyl

“Anna played a short song with the piano in her school .”
1. What is the thematic role for the noun phrase "Anna" ?
S5 AS ja a9 ol a6y (A JLN\GAUI

a. theme

b. experiencer

c. agent V

d. instrument

2. What is the thematic role for the noun phrase "a short song™?
O L sai ) 4y Jgmiall a5 jeadl) de gl

a. theme

b. agent

C. experiencer

d. source

3. What is the thematic role for the noun phrase "her piano" ?
oyl 8 deadiiall 31Y) i)

a. goal

b. instrument

c. theme

d. experiencer

4. What is the thematic role for the noun phrase "her school" ?
Caall 4 2y ) ISl A jadl)

a. instrument

b. goal

C. source

d. location v

Alaal) sdgy (glass At day ) ALyl

1. “ On her way to work , Sally saw a poor man sitting on the sidewalk “
What is the thematic role for the noun phrase "work " in the sentence?

t0 oAl (o Cargl) s Jaall

a. location

b. source

c. goal v

d. instrument




2. What is the thematic role for the noun phrase "Sally" in the sentence?
e oA 1A s a8 Jaey o ol

a. experiencer

b. agent

c. theme

d. source

3. what is the thematic role for the noun phrase " a poor man" in the sentence?
4 Jordadl sa 1A Hlaill Jad dile a8 (o) (ad i) o el o)l

a. goal

b. theme

C. experience

d. agent

4.. what is the thematic role for the noun phrase "the sidewalk" in the sentence?
%)\ﬁdﬂ\@é&hgﬂ\éﬂ\

a. location

b. goal

C. source

d. instrument

(i) s ae ABLad) Alaal) Gudi A 9 )Adand) odgy (alati 4001 Aay ) ALY
" On her way to school .Mary saw the cat over the tree "'

Identify the semantic roles of the four noun phrases in the sentence

1. What is the thematic role for the noun phrase "school "?

. location

. source

. goal

. Instrument

o O T o

. What is the thematic role for the noun phrase "Mary"?
. agent

. experiencer V

. theme

. source

O O T D2 N

3. what is the thematic role for the noun phrase "the tree"?
a. location

b. goal

C. source

d. instrument




4. what is the thematic role for the noun phrase " the cat"?
a. experience

b. agent

c. goal

d. theme

1. what is the thematic role that can be defined as the entity undergoing an action or
movement ?

This character role can be defined as ““ The entity undergoing an action or movement “
Which role is it ?

(il il cn B ) SN ) (g 4 J smiall Gy ya

a. the goal

b. The experience

c. The theme

d. The location

2. What is the thematic role that can be defined as the entity that performs an action?
((Jadll alE (o3 (S ) Jelall Cay s

a. The agent

b. The theme

c. The location

d. The goal

3. What is defined as " the entity that is used to perform an action™ ?
(Sl e aadiinall pSI ) 31031 Cay pa

a. The instrument v

b. The experience

c. The source

d. The agent

4. Which of the following sentences has the thematic role “Instrument”?
(3139 ) oo s sall sall o (g sind ) dleall il

a. The boy cut the rope with a razor

b. The boy felt happy

c. The boy saw the rope on the floor

d. The boy returned the razor

5. Saleh heard them talking about the money." What is the thematic role for Saleh
A< ) Jladl (e ad 138 5 e A (0 yae el

a. instrument

b. theme

c. agent

d. experience V




6. "Ahmed borrowed a stapler from the other office” . What is the thematic role for the
NP " other office" ?

from e all Gaw jiadll g AY) (ol

a. agent

b. experience

c. theme

d. source

7. "The golden medal in the race was given to Noura" . What is the thematic role for
Noura ?

t0 _all it Ll Cudae | angll o ) )5

a. instrument

b. goal

c. theme

d. experience

8. " Sami wrote the poem with piece of chalk™. What is the thematic role for “the
poem" ?

AUS G Al AT 4 J gadall oo Bavadl)

a. goal

b. theme

C. source

d. instrument




Al Al) §_palaall
Prototype

O A Hyponymy Weieda (e OIS 5 GlalS a4V all cilEBlall 400 5 jualaal) 8 U8 Hht g sau
& il s Ja¥)
‘ _ DY gl e 55 ing sgd ol s U Sl
an) agle (allay (oY1) shlas D) AT e i g 4ie daill (S AB) o2gn 4l Y1 B pualaall s2a b
z s« Prototype
asszsﬁg\jsiﬁ;;;ac)ﬁww;ﬁcsﬂ\
s @bl s aladll g aleall lgia o) 3} o Jaidy ) saball Qi Dl
The concept of prototype helps explain the meaning of certain words, like bird, not in
terms of semantic features (e.g. "has feathers", "has wings"), but in terms of
resemblance to the clearest example
Qe 5 Agaliiial) Lgilows . (po L) 5 g 5ol Lo Cam (o Gl Bl ins = 3 8 20 Ly 23 5l
L
Thus, even native speakers of English might wonder if ostrich or penguin should be
hyponyms of bird, but have no trouble deciding about sparrow or pigeon
A salll Lgilon Cum e eI (IS Sl
agLil) G ge K1l Bl e Baain ¥ 138 5 Ly b Asial aly (il s adl it il 44
daial Jaady Ganll i gd 7 salll
Prototype is about mental representation of meaning or categorization
we are dealing with is a gradual categorization of meaning with an instance of
representation
A Prototype is an object or referent that is considered typical for the whole set

)Rl 3y cps Al ga i g il g bl o o8 adl aS Ha s Jial) dagd L Jsa a3 sailld
sae ) dalas Jie AalH el Liadl il

ALl (e S Y g Junalill) (pa S (¢ giaT Y 5 yudalaal)

b palaall Ao ABlud) o) oY) e dAdin

1. It can be defined as the gradual mental representation of meaning or categorization
it is called

a. prototype

b. inference

c. referent

d. referring expression




2. Among the following four birds, which one is considered the least typical of the
whole set ?

o2 sahall de gane 8 Z3saiS s B e o3 S8l ey A g gl oA L

a. robin

b. duck

C. pigeon

d. penguin

Among the following four kinds of tea , which one is considered the most typical of
the whole set ?

o8 sLill de gana (8 zdsaiS (S d g g ST ey Al i) oa L

a. strawberry tea

b. Moroccan tea

c. white tea

d. red tea V

Among the following four types of chairs , which one can be the most typical of the
whole set ?

038 (o) S de gana (8 zdgaiS 5 B g g3 ST ey Wl g sl o L

a. bench

b. stall

c. arm chair

d. message chair




L) 5 yualaall

A referring expression is a noun phrase that is used in an utterance and is linked to
something outside language, some living or dead or imaginary entity.
That ‘something’ is the referent.
referent s Ul s referring expression sa Js¥1 s Lyal
S asmse S B il ¢ pail) agd e S il o o5 e dgm 2 e saad s U5V O g GUA
s 5l Aglad il dan 3 ke Llle sa 505 50 e
b 3 Dhad 33 53 (03 (3 OS] €t 3 yme 138 bl 8 e am e Y AR B ¢ byl 8 e U Sl

Primary referring expressions
like a dog, your friend, George Adams, the flowers in that basket; (they refer directly
to their referents)
Secondary referring expressions
like he, the big ones, ours, that one. These expressions are headed by pronouns and
they refer indirectly; their referents can only be determined from primary referring
expressions in the context in which they are used.
2 9IU ) yaamt a6 9 Asbaa) ) et Aa g
@s\‘yu\(M\@)}U) el ) Gy s 6 5 e 3 525 Al el oDle § ALY (g
m@@:\s;)}gjum\um MU\JJSMUSSJMUM)AM\@J}AJUY\dm 2 g 4l
(Oa ) 8 leam ) (Say)
O JB3 Gl 2 5m e e agdi gl he s seall He was a good man Jie dlaad 4 sl <l el L
Jaol 13a (e ciaat Ao Alas 45 Jag yi Ladie V) e a2 Gad sl 13s

Referents differ from one another in 3 ways

Referents differ from one another

Unique (fixed) unique (Variable)
We swam in Lake Ontario We swam in a lake
Japan, Barak Obama, the Philippine | that dog, my uncle, several
Islands people
528 (S5 AN candig lge 5 e By Al | 50l B pdall a3y 8yl
NP R IRETRPYE PR PPRIEO g S cdlamy 2aaa gt e 2 )
Unique and non- | . &)L L) I e i 3 pmy Jiedda | allall (5 pm (of ()5S0 8 B s
Fixed Reference = Inference &

unique referents Where’s the cucumber salad sitting?
HEIPESL G ) o) et Jl Letie el Vi e
S22 e 5380 vie 4paid LAl Al
oy () ( Jghaie jueiS (S5 (il 8
dali alls (63l (addll 18 58 3 gualdl )
. okad)




Concrete and
abstract
referents

9 A gala lma 4

33 2

Concrete: which can be seen or
touched
:Ji Lgnaal 5 Lety ) 0San s pala cadl
dog, door, leaf, stone
b panindt (S0 A guana (5 585 28 LK) jiaay
:Oileal) (5 Al A puna 2 Ll e dlaal)
the key to the front door // the key to
success
ALl it 58 5 (a pusna Ui 5 U I 5Y)
Bl =l literal meanings e
ZUde g guuna e (ST ~Uda Liay) 400
figurative meanings (cesu s '\l

6 Jaal) ixall

abstract: they cannot be
perceived directly through
the senses ;
u»\};ﬂ_juﬂ).ﬁygdﬂ c«\_ui\
:Jie
idea, problem, reason,
knowledge

Countable and
non-countable
referents
SJJJ&A Gila e
SJJJ&A J:\'QJ

a. Concrete countable expressions:
refer to items that are separate from
one another, like apples, coins, pens
and toothbrushes, which can
ordinarily be counted one by one
cLud) e 0 gad A galall 33 gazall ol jueil)
bl 5 A Jia lpiany (o Lebiad (S
laae oSy il 5 40l
b. Abstract countable phrases have
such nouns as idea, problem,
suggestion
CRaa 5S4l Jia 82 yaall 82 saxall )yl
Augale e LeiSl ()5 S8 5 Baa) 53 S8 J o

a. Concrete non-countable
expressions:

Bagira yall £ gl EDG aa gy

du galall

1. continuous substances,
such as apple sauce, ink, mud
and toothpaste, which do not
consist of natural discrete
parts.

Gl (e 0S8 Y dliatiall o gl
2. substances that consist of
numerous particles not worth
counting, like sand and rice.

Gt ¥ LSl s Gilagman (o (585

DSl g )W) Glius Jia aal)
3. collections whose parts
have quite different names
like furniture, jewelry,
luggage.
Adlia o ada gl 3l Cle gandll
<l gaall Jie slan) Bzt
LS (S0 e 5 ) gl aila o (5 gia
Dl A e (ania ial A
b. Abstract non-countable:
such as advice, information,
beauty, are treated in the
English language as
indivisible.
Jie 22l AL e g4 gala e
baill § il sladll




An inference is additional information to connect between what is said and what must

be meant.
suali la (g 4d 68 L (g Jay 3 Adlica) e glaa ga LY Cay jat

dgial) 1 g 3 ganally dualdl) JalGil) jany
The singular countable noun phrase must have an overt specifier; the plural countable
and non-countable may have a zero specifier; the specifier some can be replaced by
zero in the last two lines above
an apple, a coin, some apples
some apple sauce
a,an, some Jis saaa lgd 05 () Gangy 83 jall 33 sanall clans!
saas sl Canzmi ¥ (510 Zzero - Jasius Ul s some Lae adiin () (Sase A salall 33 5300zl classy)

Certain animals are named in countable phrases but when considered as food the
names appear in non-countable phrases.
(a) chicken, (a) lobster, (a) turkey
In contrast, there are animal names of Anglo-Saxon origin such as cow, calf, pig—all
countable nouns—matched by food names of Norman-French origin: beef, veal, pork,
which are non-countable.
83 5ara e (058 alada Lgy 3 saalall (S 13) Lal ¢l san Lgn 3 sacalall (IS 13) 33 gara yuind ) gaadl ¢ Lo
83 53aa Liat cOW, calf, pig Jie o saSla A Jeal) (e 33 Al Gl pall cland ang
Bagaa pe el heef, veal, pork Jis (A Jual (e daadal S 13) ALl clawyl i (S

Some nouns name substances when they occur in non-countable phrases and in
countable phrases designate items originally made from those substances.
glass, iron, paper, a glass, an iron, a paper
What is regarded as a substance, so non-countable, may appear in a countable phrase
to
indicate a certain quantity or type of the substance.
a coffee various soups several cheeses
83 53008 (5 A) Jan (8 230 3 33 gare pee il ) LK) jiany
83 g2a oA 93l sSall uali gn iron Jst Ledie Sy a93e e jron wasll Jia
&@qm&}ji@iﬁélﬁu@ 13) 33 52maS yelai 83 ganall uall o gall iamy (oS5 28 (Jlaally g
Various SoUpS 52 siea (5583 4y ) 5 &) il aali Laxie (K15 35020 ¢ SoOUP

They are nouns that name collections of items—furniture, jewelry, luggage—which
are always non-countable.
The specific items included in these collections are indicated by countable nouns—
chair, bed; necklace, ring; trunk, suitcase
83 gara a3y sul) DA (Al K1y 33 gara e g8 ) a saall e AlalS de gane cilS 13)
5 paY) adadll
In other instances there are matching nouns: rain and raindrop, snow and snowflake.
There are a few nouns which occur only as plurals: scissors, tweezers; trousers,
shorts, jeans, etc.
raindrop 2 s Dhall @l i (Klgsagaea e bl rain Jie daUaiall end slawd) (ian
&L Ceaddl) (alall Jie 3 jie S0 A6 G (S Y aaaS Lails Jalas slad @llia Layl
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B alaall Ao ddilud) al oY) e Alicd

1. "My dad taught me that the key to success in business is being patience™ The key
here is basically...

Gl JLall ) gl 3 jae < o) ity g8 g figurative referent ¢ las Fiza oo ddaall 38~y 3 paiall
a. A concrete referent

b. A literal key

c. An abstract referent v

d. A nonfigurative referent

2. What would be example of sentences.......... continuous substances.............ccvevvverienn,
laiall Glasaall Gld 2 gl sa gllaal) (SIS e J) gl

a. apple sauce and ink

b. sand and rice

c. furniture and jewelry

d. some coins and pens

3. Scissors , tweezers , trousers , shorts and jeans are examples of nouns that
o Gaa ‘_AQ é\ﬁ Laila L@-\L\ claty) o2a e

a. occurs only as plurals v

b. could be concrete or abstract

C. must have overt spectifty

d. have fixed reference

4. A waiter at a restaurant said: ""The tuna sandwich left without paying "The tuna
sandwich in this utterance is best interpreted as..

Ol e J}:.JGU.'\L\)A?L)S&\E iy Uia 3 geatall L

a. a customer

b. just a sandwich

C. money

d. the restaurant manager

5. A waiter at a restaurant said: "Where is the Caesar salad sitting ?"The Caesar salad
In this utterance is best interpreted as..

daliae dlasy (3l Jhguad) (pudd

a. a customer

b. Someone named Caesar

c. Just a salad

d. the restaurant manager




6. The dentist said : “My eleven-thirty canceled so I had an early lunch. ” Eleven-thirty
In this utterance is best interpreted as ..

daline dlasy 3l Jhguad) (s

a. a patient v

b. a watch

c. a doctor

d. a break

dgliia CLY) s g Admy daaa il 58 9 (o 35 an pa el LA AN A5EN ALy

7. Which among these sentences involves a secondary referring expressions ?
a. Your sister white

b. That one is white

c. The big dog is white

d. The flower is white

. Which among these sentences involves a secondary referring expressions ?
. Your sister is pale

. That one is pale V

. The big cat is pale

. This rose is pale

o 0O T 2

. Which among these sentences involves a secondary referring expressions ?
. This little girl is fast

. Your friend is fast

. That one is fast V

d. The big camel is fast

O T 9H O

10. The referring expression "my uncle "is considered..
ac ) 0SB 3y 8 e Ll e (it 4K

a. an abstract referent

b. a unique referent

c. a non-unique referent v

d. a fixed referent

11. It is understood as using names associated with things to refer to people , or an
example of people to refer is called .... ZLwY) oy ys

a. reference

b. prototype

c. referent

d. inference




12. The referring expression " Lake" is considered ...
B @ pe 1Al Baasa yue 3 sl

a. a unique referent

b. a non-unique referent

c. a fixed referent

d. an abstract referent

13. The referring expression " the Arabian Gulf" is considered ...
2% oo 1Al s el alal)

a. an abstract referent

b. a non-unique referent

c. a variable referent

d. a unique referent

14. Among the following are examples of concrete non countable referent have
numerous particles not worth counting .Which ones are they ?

dall 3arid Y LgiST g Aliadia 3 gzall jie &\}f‘i\&a

a. some coins and some pens

b. apple sauce and ink

c. rice and sugar

d. furniture and jewelry

QS slail g i b Jual ca Al daaks) e Sl Cpallil) cpl) gl

15. Throughout the course , what did we say about food names such veal ?
a. That they occur only as plurals

b. That they could be concrete or abstract

c. That they come from Anglo-Saxon origin

d. That they come from Norman-French origin

16. What did you learn about some food names such as "cow or pig" in this course ?

a. That they occur only as plurals

b. That they could be concrete or abstract

c. That they come from Anglo-Saxon origin V
d. That they come from Norman-French origin

17. Which among these sentences involves a unigue referent ?
“c 5i e b LA (e gl

a. A lake

b. Water

c. Lake Ontario

d. The big lake




18. The referring expression "bottles of milk" is considered ....
(2s3ma e 03 ey culal) ) B sama Ll e Caiad Culall Clals
a. A countable referent

b. A unique referent
c. An abstract referent

d. A non- countable referent




daglud) b paalaall
Deixis
They are technically known as deictic expressions, from the Greek word deixis,
which means “pointing” via language.
pedl Y LS and dlaall L lalins santy Ladie V) agdi ¥ 3l ol i) a4l o) (e 33 5ale AaKS
Caaall (e 3 gaiall 5l gl gl hantiall o el 13
ALalS Alaad) agdi (of cang 130 Lia (6l o Ll 58 Lo sl L AlS (e 3 gucaiall pgdi W MLia" LilE 51 (Jia
Deixis (send &l =il 028
We use deixis to point to
1. personal deixis:

point to things (it, this, these boxes)
point to people (him, them, those students),
2. spatial deixis:
point to location (here, there, near that)
3. temporal deixis:
point to a time (now, then, last week)
e ) sl B ) 5 )LD Deixis adii
Lia ) i ol sall Jadis & 5 A0lSall o ab & 5o <13 138 ) Jie (el 5 cLEYL (3lati o2 5 dpadill
(LY oY1) Jie < gl Jadi Ayl 0 o Alia
All these deictic expressions have to be interpreted in terms of which person, place or
time the speaker has in mind.
We make a broad distinction between what is marked as close to the speaker (this,
here, now) and what is distant (that, there, then).
Laaas Al A3 5 (Sl g Chantall Cuoa Wy pudd o casgy <l LEY) 238 S
(Y a1 ) 98 Lo G lay (V) La 138 ) Jie cujf ot Le G 20ni o (S Liaf

We can also indicate whether movement is away from the speaker’s location (go) or
toward the speaker’s location (come).
People can actually use deixis to have some fun.
clic laxise ol clalaily 2alE g Ll 3 HLED Liagf andius
5oedl) o Jeantl i Lenie 5 ((Aailae 568 18 ) (gl (e S bl (g g 5i€ lamall Lgariiiny
sl Gl lae Gl J s 4l
One basic way of referring to something is to point to it. Every language has deictic
words which ‘point’ to ‘things’ in the physical-social context of the speaker and
addressee.
) (Bl s Al all Ll HLa) Lol Aad IS5 ¢eLud¥I ) 3Ll dpuld 43 Hla <ol JLEY) alasiia
Ofiaadall G e laiall
Words which can be deictic are not always so
Today and tomorrow
here and there
The pronoun you




22 5 asall e ol L) Wyt W5 o) aling 8 6 Al dea (8 S15 il LEY1 (e yiad LKl jany
il yaaall g cllia g Lia

Adull Al 8 LS

Jie deictic cul Lgd MU a5l a2 5 a8 (i A Jadl o sl iy a2 5 0 sall dlaadly aady W (S 1)
Al dlaal)

Zay) ) Aleal) Jie deictic ol Ugh 8 JS 8 4f 1) 5 ,La1 Lai 5 almy (1S dealy Y (IS 13) llia 5 Lia
5aY) Alaall L LS dleictic osd e Uigh (Taaad el ) Gud Gadd (6 43 aaly (IS 13) il jpaall

"We can’t go today, but tomorrow will be fine.” deictic

“Today’s costly apartment buildings may be tomorrow’s slums”. not deictic
"James hasn’t been here yet. Is he there with you?” deictic

“The children were running here and there.” not deictic

“You can lead a horse to water but you can’t make him drink.” not deictic

Ok wnNE

Anaphora
subsequent reference to an already introduced entity.

We saw a funny YouTube video about a boy washing a puppy in a small bath.
The puppy started struggling and shaking and the boy got really wet.
When he let go, it jumped out of the bath and ran away.

Alaadl 4] 5 LAY Citans LS e 25238 LS 1)

0 J¥ SN il jaaS g pall g algll B <3 A6V 5 ) abedl JUdl b LS

on sl Al (ol Ll g jea sl 43Y the Uiba 4000 dlasl) s

aal) 3 LY i e LS ) a3 LY he, it <l JLaYL laliladi) 2500 dleal)
anaphoric expression (i 483Ul &l LY 5 antecedent lele (3l 48Ul 2alS)

3 palaal) Ao AGld) al oY) ¢pe ddiad

1. It can be defined as subsequent reference to an already introduced entity. What is it
2

oslind) oy yas

a. Anticipated
b. Deixis

c. Collocation
d. Anaphora v




2. Only one sentence among the flowing has a spatial deixis .which one ?
Al ) e 4 ginal dlaall

a. I'm busy now

b. you can't stay here

c. come back tomorrow

d. join me later

3. Only one sentence among the flowing has a temporal deixis .which one is it ?
daile 3l Ol LAY e 4 sl dlaal)

a. I'm busy now v

b. you can't stay here

c. Put them near that

d. These boxes are heavy

4. Only one sentence among the flowing has a temporal deixis .which one is it ?
Aila 30 L) e 4 ginall dlaall

a. These boxes are broken

b. She can't stay near that

c. You should come back later

d. Can you put it there, please ?

5. All these sentences have temporal deixis except for one .which one is it ?
Baal 5 lae Lo daile ) &l La) e (g giad dlaaldl S

a. Come back later

b. I'm busy now

c. You can eat over there v

d. Please , join me tomorrow




A3alil) 5 pucalaall

Collocations
Words tend to occur with other words: blond hair, Fast food

A collocation is a pair or group of words that are often used together.
Certain words tend to appear together or “keep company”. This keeping company is
what is called in semantics “collocation”.
These examples help to illustrate Firth’s (5915) argument: “You shall know a word
by the company it keeps.”
Lgaa (A1 488 5)) (ha clalSl) agdi (o quang olif & b J gy

Aay s il g ¢ A1 2l AWl e ¢lanall Lpdary ae Aagi e G O Lgale (e S ; ddial jiall LIS

aal il gl Guliiall aseadll collocation AVl ale 8 e
Some collocations are fixed, for example take a photo, where no word other than

take collocates with photo to give the same meaning.
Some collocations are more open, where several different words may be used to give

a similar meaning, for example keep to / stick to the rules
oAl AL aa 5 Y 5 ) g JalEl e aaae Gl ae V) BB Y LY leadla) ai Clagenll (iaxy
Al Jzall (5 g3 ) g &
el (padi Uplansi 33a) 5 AalSD 5 ) gomna (5585 Y Al (e ST e (Bl o8 Cilagenill (ymms

Here are some more examples of collocations: g-eladial lisal) cilasanill 4XaY) (any

1. You must make an effort and study for your exams (NOT do an effort)
2. Did you watch TV last night? (NOT look at TV)
3. This car has a very powerful engine. (NOT strong engine)

Why learn collocations?
a) Give you the most natural way to say something (smoking is strictly forbidden)

b) Give you alternative ways of saying something, which may be more expressive or
more precise (very cold and very dark)

c) Improve your style in writing (poverty breeds crime) (substantial meal)

¢ daagal) Cilfadil) alati 3Lal

Lo L J 8 e dpngda €T 46 )T Ul

el 3 380 ST SN Jand Adlide 48y sy (peme 23S U Alpay 8yl Lighany

LS A bl )3y

Ledel A (Say (s sinally ALY Liany 22 53




There are many different types of collocations:

Adjectives and nouns
Bale slanll ga Al AN cilinall

bright color, brief chat major problem
MJM cSJm&ude cgb\jw

Nouns and verbs
Jad) aa Bale U A pland)

economy boomed, company has grown, company has
expanded, two companies merged

a3l LIS

Noun + noun (a... of...)
Aoy ja ()9S5 slacdy) & (AU sl
sde i i g ally

a surge of anger, a sense of pride
AL (b cquzil) (e 4o ga

Verbs and expressions with
prepositions
Al dig A pa & pad ga (AU Jlad)

filled with horror, burst into tears
£ sadll i pagd) e b cuila

Verbs and adverbs
Jsal g AU Jadi

pulled steadily, placed the beautiful vase gently,

smiled proudly, whispered softly
& 9 Cuwal &)ﬁf M\ cdhjgm‘guﬂl..\;\ﬂe&u

Adverbs and adjectives
a2 A8 JIgal

happily married, fully aware, blissfully unaware
ddlaad) gilay 92 9 JAL clalal & jaa s 7) 9

Synonyms and confusable
words
B_saal) cilalsl) g cilda) yal)

dalS gaali (5 A cilalS aa Cilida J8 AU old dals cildd) ya
s Al alals o gl Y (8l g clalsl) G2y e old
old friend, old building
ancient history, ancient times
antique furniture, antique jewelry
elderly person

Other synonym pairs
synonyms
s A iy a & gﬂlﬁ CAEX P

charge vs. load

injure vs. damage

grow vs. raise

wuwxw&s@e@wyw@msw

| need to charge my phone

| need to load my phone x

They loaded the van/truck and drove away.

Three injured people were taken to hospital.

The shop tried to sell me a damaged sofa.

In the south the farmers grow crops.

In the north the farmers mostly raise cattle.
@sdﬁywsujﬁégs&ss“dﬂus@ésﬁm

3 gualal) ua g el ALY g 5 AY) daldl)
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1. what was first reference to by saying "you shall Know a word be the company it
keeps "

G Al sie (g

a. A naphora

b. Collocation V

c. Deixis

d. Presupposition

2. It is defined as " a pair or group of words that are often used together , such as, take
a picture " what is it ?

il (e

a. Deixis

b. Anaphora

c. Collocation

d. Presupposition

3. Identify the only one collocation that is written correctly among the following:
wm@&www\sqﬁ;jﬂ?d@\ ATEEN

a. Did you look at TV last night?

b. Your car has a very strong engine

. You must do an effort to study for the exam

d. You made a few mistakes

4. All these examples represent correct collections except for ....
GhlA 3aal g lac e A a LIS

a. a substantial meal

b. a big meal

c. a fast meal

d. a quick meal

5. All these examples represent correct collocations except for ....
GhlA 3aal g lac e A a LIS

a. stick to the rules

b. a quick car v

c. a quick glance

d. keep to the rules




6. Some collocation are considered fixed while others are considered open. Which of
the followings is commonly known as a fixed collocation?

Clagaadll = Mal Gaa Caiai lgie 3aal

a. Take a picture

b. Stick to the rules

c. on a bath

d. Gently

7. Which of the followings is not an opened collocation (i.e it .....?
3 oad) lauliial) e Gl Lgia Baa)

a. Run a bath

b. Take a picture V' > fixed collocation

c. Keep the roles

d. Place gently




dalil) 5 palaall

Presupposition
What a speaker assumes is true or known by a listener can be described as a

presupposition.
If someone tells you Your brother is waiting outside, there is an obvious
presupposition that you have a brother.
If you are asked Why did you arrive late?, there is a presupposition that you did arrive
late.
And if you are asked the question When did you stop smoking?, there are at least two
presuppositions involved. In asking this question, the speaker presupposes that you
used to smoke and that you no longer do so.
(ol Y
el J (e Cas pre sl anaa 4l Cuaaiall 4 i L
Felal il ales bl (o i) Chaaiiall Lz jlad) 8 ki o i e (sl o jud Lavie A8l ABY) 8
aalad il 5 pamia oo o lsall () 5S0 1A @llh alas cul g jalie @l aley ggd € Al 13l
One of the TESTS used to check for the presuppositions underlying sentences involves
negating a sentence with a particular presupposition and checking if the presupposition
remains true.
Whether you say My car is a wreck or the negative version My car is not a wreck, the
underlying presupposition (I have a car) remains true despite the fact that the two

sentences have opposite meanings.
This is called the “constancy under negation” test for identifying a presupposition.

il sa Gl 58V 2 sl il HLEAY) sy
3)\.}....:&.)&34\_1\}% JS}AUA\_):\S\ gﬂh@:\@‘)&‘fi‘)\?}m&_}ﬁji cuué‘)gud)ﬂum
() S LN e o34
Jand) S e i LAY ALY dgnd 18 palaal) Ailgd (A (el
What is one obvious presupposition of a speaker who says:
400 dlaad) Cha gl gl Gl S38Y) ga La

(a) Your clock isn’t working. That you have a clock.

delu 4l () Gl 8V Jaad Y el L oy

(b) Where did he find the money? That he found a money

(c) We regret buying that car. That you bought the car.

3 ks | gy} gl L (yzal 38V 63 jluadl o3 o) il Canls (as

(d) The king of France is bald. That he is the King of France.

ASE e il o Ly elle (e alS Wl ) 580 calial L ji elle




The following sentences make certain presuppositions. What are they?
b)) )

(@) The police ordered the minors to stop smoking. That the minors were

smoking.

(b) That her pet turtle ran away made Emily very sad. = That she had a pet turtle.

(c) Even Fred passed. That test was very easy.

(d) Lisa wants more popcorn. That Lisa already has some
popcorn.

(e) Jill went into a nearby house. That Jill did not go to her
own house.

B palaal) o AGld) al oY) ¢pa Adiad

1. What is speaker assumes is true or known by a listeners can be described as a.....
ol 81 iy s

a. presupposition

b. collocation

c. deixis

d. prototype

2. What is one obvious presupposition of speaker who says " your brother (sister) is
waiting outside?

ileall b () 8Y) g La z LAl 8 s (clidl) &l sal

a. That you are iatc for you brother

b. That you have a brother (sister )V al ciela JaT 23 50 b &1 el 4

c. That you need to leave with your brother right now

d. That you regret having a brother

3. What is one obvious presupposition of a speaker whosays " .................
We regret buying that car. cx leill (e Ll adief (S dails dleal)

a. That their care is old

b. That they did not buy the car

c. That they will sell the car

d. That they bought that car

4. What is one obvious presupposition of speaker who says "I regret talking to Tom "?
Lia Goal 81 Le ca 58 e Siaa e s

a. That he has a friend name Tom

b. That he did not talk to Tom

c. That he will fight with Tom

d. That he talked to Tom V a5 ge caass i




5. What is one obvious presupposition in this sentence :” Majed renewed his
subscription to Sports magazine “?

Lia ol 581 Le cdocaly )l Al 8 4S) 5180 as aala

a. That is subscription has expired V el 8 4S) 513l )

b. That Sport magazine is a cheap magazine

c. That he reads Sport magazine everyday

d. That renewing the subscription is easy

6. What is one obvious presupposition in this sentence :” Your son is annoying" ?
Aaall byl S8V Lo e 3 ol

a. That you need to talk to your son

b. That he will hit your son

c. That you have a son v ¢ <lal 43l

d. That you regret having son




5 uikal) 5 yualaall

There are different kinds of context:
1. Linguistic context (i.e., co-text). The linguistic context of a word is the set of other
words used in the same phrase or sentence
2. physical context: know how to interpret words on the basis of physical context
If the word bank is used in a sentence with words like steep or overgrown?
If we hear someone say that she has to get to the bank to withdraw some cash?
If we see the word BANK on the wall of a building in a city? The relevant context is
our mental representation of those aspects.
sBlamad) (e ddlida &U.t\ Sl
el 4l Jie dleall & 5 AT lalSy adalii ) 5 Aleal) Blaw JUA (o CLalKI A3 jaa 585 (5 9ol (Glnad)
) Sl i 4y deay adimd Sl dleadl a3 S o Lasi i Ladie
i€ il iny sgd Sl 8 Gl 3 gans 4 e (i Jhy cpom (S
& opai G jlaall e @l A4S (5 5 G lprans ) Al Al 5 ) gea JSE s (salall (Bl
) ) (i eaeS clill Liad

Speech acts

There are ways in which we interpret the meaning of an utterance in terms of what the
speaker intended to convey

In general, we recognize the type of “action” performed by a speaker with the
utterance, such as “requesting,” “commanding,” “questioning” or “informing.”

We can define a speech act as the action performed by a speaker with an utterance.

‘sadul\;u.u;ulce)ﬁ\umﬂu\h&cU&uM\%ﬁgﬂ\uMMdﬁéL&
il glaa sl el 1 el 55 28 (S
DS pe Caaaiall 4y o sdy (531 Jeadl 3 o 23S Jladl Cy a3 (S
Direct vs. Indirect speech acts

We usually use certain syntactic structures
sl syl aastini sale ¢ jdlaadl ye 5 bl 2SI Jledl

Structure s il example Function 4 g
Interrogative Did you eat the pizza? Question: ask someone for | direct
algin) disa ) il ST da yile J)ses the information
llaS ) JlguS ()9S5 B
Can you pass the salt? request: we are not asking a | indirect
el @ e il e Gl question about someone’s
ability
Declarative You left the door open Statement direct
o paill dasa o a5 e padid ae Coaai Ladie
b g gl ¢S s it ) i iy g i€
you would want that person to request indirect

close the door.
Sl o€ s al)Aslal) dlaal) culé 1)

Gl Bl Cinans o)l dualliy (La sixe

Imperative Eat the pizza! Command direct
Y i




It is possible to have strange effects if one person fails to recognize another person’s
indirect speech act
pand Jly 28 Cilb 5 I & Jb cleio 2aill ped ol 1) aledin¥) dapa o BIA &5 O (Saall (e
Lolae ey ol Jlas Ll e Bl agds AY) Gaddl) (ST 58le J)su L a5 olgdina) dapay
byl
Speech Act Theory (Book: How to Do Things with Words)
The word acts entails doing actions. Within a specific context, Austin (1962) states
that “to say something is to do something”.

Austin distinguishes three different acts/forces in any given speech act.

“Do you have a watch?”

1. The locutionary force: what is actually said; the production of the words that make
up the utterance.

2. The illocutionary force: the intended meaning of the utterance (asking for the
time)

3. The perlocutionary force: the effect achieved by the utterance on the hearer. (The
action created; the listener looking at the watch and tell the time)

Ml Jadl of g8 Ui J 83 o) " s isl J By action Aalsll ¢pe Al got dalS ;adS) Jladi 4 i
DS il 3 58 Adlide o) g D G (S5l e

DS S ) LS ) ¢ Shad JUy Le 4y ity 5 2SI o glid )

il o 23S (e g gl il a2l Ll ¥

Mol dhal Ja " 3 ga sall JUidll Lae la

Y sl a4 ga Vg s 85l e Sl A8l (3 o dlie e g Sl sl 58 J Y1 g i)
Bl e Jlgall b g DS e dalall aaiinall agdy &3

sl a L Uiy g ade bl Hlahy Gy ) Guaay | il

To interpret the intended meaning, the hearer needs to consider the social context
The main reason we use indirect speech acts seems to be that actions such as
requests, presented in an indirect way (Could you open that door for me?), are
generally considered to be more gentle or more polite in our society than direct speech
acts (Open that door for mel).

laall Cosla¥) (e Ll ST ey 439 callall Jie 5 pilaall ye dxpall aladinl (pe Chagl)
"o A il " e ST g ol 8T L) i a1 5 g ol e ol Laind




B palaall Ao ddlud) al oY) e Alic

(Al L 2l algiind Tipa ALY aan ) b Aleall jued ae dgaliiie I 5Y) Al 23D
1. If someone asks you "Can you pass the ketchup "while sitting on the dining table
this utterance is often interpreted as..
a. a question
b. a direct speech
c. a request \ il
d. an interrogation

2. If someone asks you " Can you pass the salt and paper ?" While sitting on the dining
table , this utterance is often interpreted as ....

a. a question

b. a direct speech

C. a request

d. an interrogation

3. If someone asks you "Can you pass the hot sauce? "while eating at the dining hall,
this utterance is often interpreted as..

a. a question

b. a request

c. a direct speech

d. an interrogation

4. Imaging that you enter the classroom and your professor, who want you to close the
door behind you , said “You left the door open ” What is the locutionary force in this
scene ?

IS o ghoad 858y ey 13le (i gl Ayl (e Jad diniLa 58 agall ) (815 AL 5o A

(@Y oA o 4 jllocutionary force sl 3 s Jsadl Jadinl AT #3500 S8 5)

a. The intended meaning he had

b. The effect achieved by the utterance

c. The utterance that he actually said

d. The production of words that made up his utterance

(33a) 9 lasla aDISY) Jladi (e Jad o g giad Jaad) JS) Jand) juds ae dgqliia 40 DAY ALy
5. Each of the following utterance contains a speech act except for one . Which one is
it ?
a. | bet you 50 riyals he will not show up
b. I 'll meet you at 8:30 at the library
c. I'm sorry | said that to you
d. I work at the new bank




6. Each of the following sentence contain a speech act except for one . Which one is it
2

Galeall J) gl ailiin LaST () gl Anuiial 5 pue il jladl )

a. [ bet your 530 he with ........

b. I will met you at five ..... at the library

c. | am sorry | said that to you

d. I teach at the new high school V

7. Each of the following utterance contains a speech act except for one . Which one is
it ?

a. | bet you 30$ he will not show up

b. I'll meet you at 5 o’clock at the library

c. I'm sorry | said that to you

d. | eat at the new cafeteria every Monday

DSl Jlad] Jaa Lgd oS (B cannad) g ARl il LAY 4

35 Ll 38 ja JS5 38 a4l Jad getion ixd Ll 5 palaally Uili g ot Jand of cang 2SI Jlail

s IS (85 Sl iy A5 ye <l HlpAl

laie elia 3y Callaiy Jad Lin ¢ A gl (Sl g (e sirar ety O 4l oy i) i1 Jg¥) Al
i LeSaal gl 8 Gla )l culid Jsiig 2 5 o) XS ga 5 L J 585 38

Sie bty Jad ¢ s o Sl 5l of elle Jeay 40 vie 40 Aol 8 ellala - AEN HLAY)
ki Ly oy llin Al b gt 1 il oLy il a4l J 585 38 0
Jﬁ‘jﬁj&ﬂ)\ﬁc\dﬁgy}id@u) «dlle Jﬁdiguwjuaﬁ'ﬂjmgh}icﬂ&ﬁm\us :iﬁm\jﬂﬁ‘
Jad 33y callay 5 )ie ) ellin Al 8 Uallal s & guia sall gl 5 i Gl Ciagh 28] L inay
LSl 8 JST s paad) b Gl capaad) elid) o Jae o) aie S Y g jea aad cul gl 1) LA
Jrdl (pe Conad LAY ol SN Jad 2 ad (308 3l cdua J gl g 2 3 28 Uik ad Jad o) o) Jadd ¢ i) (S
R
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Politeness

showing awareness and consideration of another person’s face.
the study of linguistic politeness, the most relevant concept is “face.”
Your face, in pragmatics, is your public self-image. This is the emotional and social
sense of self that everyone has and expects everyone else to recognize.

AV paddll daa g e Huladll ol 5 PRSPV Vi |
g Ll 100 an gl e il jeday (il alal Aalall i) s s 4 5l cda glly Loy cudedl) dalll ole

gl g saage (o An Sl

If you say something that represents a threat to another person’s self-image, that is

called a face-threatening act

For example, if you use a direct speech act to get someone to do something (Give me
that file!), you are behaving as if you have more social power than the other person. If
you don’t actually have that social power (e.g. you re not a military officer or prison
warden), then you are performing a face-threatening act.
An indirect speech act, in the form associated with a question (Could you pass me
that file?), removes the assumption of social power.
You’re only asking if it’s possible. This makes your request less threatening to the
other person’s face. Whenever you say something that lessens the possible threat to
another’s face, it can be described as a face-saving act.

ala JSi sy ol aagi 4l g i) idae | cagags aly @ jady Jadl) plae) (& alud) o slad) alasiiu

(4ol 305 Jad ) ansr ilia s

Luis Jad) s Uin 28001 (e g o1y g € bl iidae | D o 581 LS5 pilae yadl 48y Hhall alasiind (S

(ﬁ)ﬂ\ e\.n

Politeness is about respecting the face of others.

Positive politeness: is enhancing the positive
face of others

O (e A (el sy aad ey cudgdll

o 2 cagia slia ol 51 AL (e (324 1 el

$2s ISy Cunally agaa i paiul) & e i el

*giving compliments

eusing terms that indicate friendliness
sthanking them

ped GLia) e aaill 5 aa JSE celinls (e 251l aa padS

Negative politeness: is respecting the
negative face of others
LA;.LMLA.\U ‘L\H\f\mm‘i@dd\;g;«_ﬁ\
gy agale 3 5 il oy AV oo b Ailue
Aaluiiy) g) saledl aada e jeday Y (K1 aga sinig
4oy o

-

*Using markers of deference
*Using indirect speech act to make orders or
requests
*apologizing
e ladl alasinl Gl Y e J5 Gldle slasial
SEeY el Y lacal o cllall e palll

Negative face is the need to be independent
and free from imposition
OF 2l Y ADEL Zla) b o AY) il ;)
a face-saving 4ssll cle Lads Jad & gill 138 Lasi 5
ol (e 7y Al Sl clle ()5S (s aCt
A
sl
I’m sorry to bother you...; I know you’re
busy, but

Positive face is the need to be connected, to
belong, to be a member of the group.
s el plaaiVls it o AY) ) ;)
e )
a face-saving 4ssl ele Lads Jady & gill 138 Lasi 5
plaaiDl (A aads ¢ 8 b elle oS o act
alal (g Guania S5 5l 4l
‘b
Let’s do this together...; You and I have
the same problem, so...




z ozl Y L) 8 (Say CHLED (0 LgdDUia) 5 capdgill AB] 4 5 jualaall 438
3 palaal) A3lgd B o i
1. Someone stands between you and the TV set you’re watching, so you decide to

say one of the following. Identify which would be direct or indirect speech acts.
Bl 1€ 58 pilia il jlaadl (o) iy (b 0 a0 () & g g ALY Gy g i iy el

(a) Movel! direct speech acts

(b) You’re in the way. indirect speech acts

(c) Could you please sit down? indirect speech acts

(d) Please get out of the way. direct speech acts (more polite)

2. In these examples, is the speaker appealing to positive or negative face?

) 9 el al gad Alaad) Ja AN Jaad) (e 22

(a) If you’re free, there’s going to be a party at Yuri’s place on Saturday.
negative face

(b) Let’s go to the party at Yuri’s place on Saturday. Everyone’s invited.

positive face
ol 03 Gelens 4as alacaiV) 4ia bl

3. Make this sentence more polite:

gl s ARy sk ) ddaad) J3a

“Give me a double cappuccino, no whip.”

Give me a double cappuccino, please, no whip

Would you Give me a double cappuccino, no whip

I'm wondering if you can Give me a double cappuccino, no whip

3 palaal) Ao AGld) al oY) ¢pe ddiad

1. Only one of the following expression is considered a face-saving act. Which one is
it ?

Y s Al (e 3 sl (Y el J sl Lay ) 4 ol ele Jain il jle (e iad Jaal) e 32al 5
a. | 'm sorry to bother you.

b. I know you 're busy ,but

c. Let's do this together V

d. You need to




2. Negative politeness is about respecting the negative case of other . As example of
thatis ....

‘._.;\L.J\ el @ P daal g

a. Apologizing V

b. thanking

c. paying compliments

d. indicating friendliness

3. In the field of linguistics , politeness is mainly related to the concept of ....
¢ osetar hagi pdadllale 8 cadglll

a. self

b. face

c. feeling

d. tactfulness
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Metaphor is a figure of speech in which a word (or a phrase) is applied to an object or
action to which it is not literally applicable

You’re wasting my time.

This way will save you hours.

How do you spend time these days?

You need to budget your time.

| have invested a lot of time in this project.

He’s living on borrowed time.

What is the basis for this metaphor? There is no similarity between time and money.
What brings these concepts together is the perception that time is like a valuable
commodity that can be gained or lost.

CoBYl o 4nllly (6 g ade aaati Loy Ld A83le Y 5 Adlide A aladtind 13 laiu)

g il (B ) e gl Ui L) A gl oLl e andis Al 028 yasting (Y Aead) Wyl
; o

Lol Al AU alie je¥) g

it imall 5 jlaiudlS 5l Waliadaiind (S0 U S3 LS s gale oLl 5f JLall e &) shna cilalS LIS

+5 jlaiu) £ o)

refers to the understanding of one 1) ARGUMENT IS WAR:

idea in terms of another s Slalhuas (s Wilgndd s
Your claims are indefensible.

Examples from George Lakoff and He attacked every weak

Mark Johnson’s book “Metaphors We | point in my argument.

Live By” (5980) His criticisms were right on

A lallaias (e 3dale s S8 agd Jias target.

A le QS 5 5S3all ALY (any Alia I’ve never won an argument

(LA Ge s Al Qb el G g s with him.
He shot down all of my
arguments.

- .

Aay gl s paill 5 o sl s g laa Jia

Conceptual

Metaphor

ALY 5 ety 2) TIME IS MONEY

ALY LS ) Jlally gl 4
(Jsaad) Jad gl
3) IDEAS ARE PLANTS:
allows us to plant ideas,
watch them grow, and hope
that they come to fruition.
Lee ) bilall Jie HSEY) Jalas
Laasis
4) UNDERSTANDING IS
SEEING.
Ay ) (Say o i agdll 4ls
| see your point!




A spatial metaphor
Ailgal) B e

involves the use of words that are
primarily associated with spatial
orientation to talk about physical and
psychological states.

b IS (SLYL ddasi je S aladial
Al 5 s DYy Lggniil

The basis for these special metaphors
seems to relate to our physical
experience: Unhappiness and ill
health could mean tiredness and
inactivity which involve being on
one’s back (physically down). In
contrast, happiness and good health
are often correlated with energy and
movement, which involve being on
one’s feet (physically up).

Aad 8 oSy e o iy dsaall g salandl
el Auailly (Sl 5 (a5 oladl
Lnidie d8a 8 0S5 0adly

1. Emotions: happy is up
omlad 22253 Balad) Ja jie K1)
lall

I’m feeling up

that boosted my spirits

my spirits rose

You’re in high spirits

that gave me a lift

lexe Liadiiusl A8Lall ALY apan
g;b cqﬁjé‘)ﬂjdﬁaﬂ

2. Emotions: sad is down
il dae 2235 ()l ) sadd)
L sl

I’'m feeling down

he fell in a depression

her spirits sank

he’s feeling low

the depths of depression
ladtiall Jie dossgll ) i LS
Gl 5 b sl

3. Physical health: health
and life are up

sall G jle a0t dpaall dsall
saall Aaall

He’s at the peak of health
She rose from the dead
He’s in top shape

4. sickness and death are
down

b gl die uxy (a all

He’s sinking fast

She come down with the flue
He’s feeling under the
weather

An idiom is an expression whose meaning cannot be derived directly from the string
of words that make up the expression

S IS Alaall Jaoadl dic 4ngh (Sar Y uad < uladl

Idiom meaning i)
a piece of cake it is easy to do. 4 aldl) Jeud) (1
off the wall If an idea is completely 3_Sal) culaiS) )

make heads or tails

you may not be able to

Jaadls aldl) e Cjae 13)
e e L e 1)

hit books or hit the sack

you aren’t actually

OSTg Ui et Y il Llad

physically hitting anything A8 pardl
lending someone a hand Your hands are not A ey Y ey (a8 Y
physically sacluw
Kick the bucket to die o ol oy 5 e




fly off the handle to lose one's temper Sllac| 28 Larie

spill the beans to give away a secret or a slalie 5w il 1))
surprise

red hearing to introduce irrelevant ot £ s sal e Canai
arguments

Jadl) () Ui o) in (oA LS Jaladi Ll placill dpadlly 4y gall) cus€) ) (land 8 LS 3 palaall dlgS B
JuSal) pan 8 ALY 1M IS G g 138 A g8 JladB ing, ed sl gl araadl s ciudal M

3 palaal) Ao ALl al oY) ¢pa Adial

1. Which among the following is considered a well-written idiom?
a. fly of the handles (fly off the handle z~all)

b. spilled the beans

c. kick the buckets (kick the bucket z>all )

d. blow one 's tops (blow one's top all)

2. which one of these sentences contains an idiom . Which one is it?
s pllaas e (g i

a. | decided to hit the sack early tonight

b. | broke the foot of the bed

c. | wasted my time on this

d. I saw the water running

3 IS an expression whose meaning cannot be derived directly from the string of
words that make up the expression .What is it?

ol mllaiadll Coy yas

a. A metaphor

b. An idiom

c. A collocation

d. An Anaphora

4. Determine the only spatial metaphor among the following
AilSa et O Hladu) (e Baa)

a. He is planting ideas in my head

b. He is feeling down today

c. He is living on borrowed time

d. He shot down all of my arguments




5. Which among the followings contains a spatial metaphor ?
(Aapnaall Aeall s e Gilall ) gudl (paii A0S0 yiad ol Jlaind) (g 32a)
a. He shot down all of my arguments

b. He is living on borrowed time

c. He is planting ideas in my head

d. He is in high spirits




Bde AANA) 5 yaladl)
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The co-operation principle: ¢staill jam

Make your contribution appropriate to the conversation. Supporting this principle are
four maxims, often called the “Gricean maxims”. Quantity, Quality, Relation and
Manner.

1. The Quantity maxim: Make your contribution as informative as is required, but not
more, or less, than is required.

2. The Quality maxim: Do not say that which you believe to be false or for which you
lack adequate evidence.

3. The Relation maxim: Be relevant.

4. The Manner maxim: Be clear, brief and orderly.
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We use hedges to show that we are concerned about following the maxims while
being co-operative participants in conversation.

Hedges are words or phrases used to indicate that we’re not really sure that what we’re
saying is sufficiently correct or complete
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examples of hedges on the Quality maxim.
We can use sort of or kind of as hedges on the accuracy of our statements,
as in His hair was kind of long
or The book cover is sort of yellow.
As far as | know ...,
Now, correct me if ’m wrong, but ...
I’m not absolutely sure, but ...
. eale o (laslie Cud (liladie i€ 1Y) s cla Lo g3 44IS Jia
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Flouting or Violating the Maxims <l 5l dallss

1. The Maxim of Quantity:
A. How do I look?
B. Your shoes are nice.
A. Have you finished your homework and cleaned your room?
B. I have finished my homework.
oo Jhn (S JE) A5 ¢ ol ma aat s el o 5l o i i) e Jls OIS ISV A
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2. The Maxim of Quality requires that the statements used in a conversation have
some factual basis.

If we are in the middle of summer in Riyadh, for example, and | ask

A. What’s the weather like today?

B. It’s snowing as usual.

I would know that the statement is not intended to be true but perhaps irony or
sarcasm.
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3. The Maxim of Relation: Failure to respect the maxim of relation creates an odd
effect.

For example, if someone asks you

A. Have you finished your homework yet?

B. It’s being raining a lot lately, hasn’t it?

You violated the Maxim of Relation by not responding in a relevant way.

But by giving this response, you signal that you want to change the topic of
conversation.
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4. The Maxim of Manner

In the following exchange, B flouts the maxim of manner, thereby implying that an
open discussion of the ice cream is not desired:

A: Let’s get the kids something.

B: Okay, but I veto I-C-E C-R-E-A-M-S.
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Which maxim does this speaker seem to be particularly careful about?
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I may be mistaken, but I thought I saw a wedding ring on his finger.
drpal A o) alld cul Al 08 Likadia ¢y 68T 8

a. The Quantity maxim.

b. The Relation maxim.

c. The Quality maxim. v

d. The Manner maxim.
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1. By using the hedge "So, to cut a long story she awareness of?
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a. The Quality Maxim

b. The Quantity Maxim

c. The Relation Maxim

d. The Manner Maxima

2. By starting an utterance with "Correct aware of the maxim of
33 gl gl e a0 68 eana o dlaal) iy 13)

a. Quality

b. Relation

c. Quantity

d. Manner

3. Mom: Have you done your homework

Son: My bicycle is broken mom

What maxim does the son flout /violate in this conversation?
bl g pnsdl e 2 A

a. The Maxim of Relation

b. The Maxim of Quality

c. The Maxim of Quantity

d. The Maxim of Manner




4. Father to daughter at family dinner : Any news about the exams results ?
Daughter : Ice-cream anyone ?

What maxim does the daughter flout / violate in this conversation ?
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a. The Maxim of Quality

b. The Maxim of Quantity

c. The Maxim of Relation

d. The Maxim of Manner

5. By starting an utterance with “ As far as [ know ....” the speaker is being aware of
the maxim of .......

33 gall gl (alit) 1agd Cayel Le o 4S5 Uiy 12

a. Quality

b. Quantity

c. Relation

d. Manner

6. Mom: Have you done your homework and cleaned your room ?

Son: I’ve done my homework

What maxim does the son flout /violate in this conversation?

el gl 3 aal g e i e calal) sa g okl g cilad ol e il gd ALS Gl atla)
a. The Maxim of Relation

b. The Maxim of Quality

c. The Maxim of Manner

d. The Maxim of Quantity

7. By starting an utterance with “ To make a long story short ....” the speaker is being
aware of the maxim of .......

Tl LY Ll Uigh laialy (<1 Al gl Ll 13)

a. Quality

b. Quantity

c. Relation

d. Manner

8. Sarah to her friend : Do you want to go to the meeting tonight ?
The friend : | have an exam tomorrow

What maxim does the friend seem to violate in this conversation ?
) g g sall e a3

a. The Maxim of Quality

b. The Maxim of Quantity

c. The Maxim of Relation

d. The Maxim of Manner




9. Father to daughter: Where are you going ?

Daughter : Out

What maxim does the daughter flout in this conversation ?
ISR RUNEENS EQVERE PP R FINLIN

a. The Maxim of Quality

b. The Maxim of Quantity V

c. The Maxim of Relation

d. The Maxim of Manner

10. One of the Gricean maxims is the maxim of quality. Which of the following
explains it ?

il (e

a. Make your contribution as informative as is required

b. Do not say that which you believe to be false .

c. Berelevant.

d. Be clear, brief and orderly.
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(1) Semantics is:

a) The study of words origins.

b) The study of words meaning. V

¢) The study of how words are structured in sentences.

d) The study of meaning that a word or a sentence has in a particular context.

(2) Language speakers can say one thing and mean another thing through

Sllas ) ) iy s

a) The usual meaning of a word or a sentence.

b) What words mean in the dictionary.

c) The meaning that a word or a sentence has in specific contexts or circumstances.
d) What sentences mean without looking at the context.

(3) All the followings are examples of paralanguage except for:
a) Nodding V

b) Laughing

c) Giggling

d) Crying

(4) The meaning of a word is included in another word, In the case of:
a) Polysemy

b) Synonymy

¢) Hyponymy

d) Entailment

(5) What is the basic lexical relation between each pair of words listed here?
OEISY) pu A8Mall ayass

a) story & tale ( Synonymy) <)

b) heavy & light (Antonymy) ab<ai

¢) fruit & banana (Hyponymy) JS ¢« ¢ j> 4de

d) peace & piece (Homophony) (st

(6) What does “prototype” mean? Illustrate your definition with an example.
Al ALl ae 3 sl iy yai

Prototype is about mental representation of meaning or categorization.
Robin, arm chair. Orange, ...... etc

(7) Waiting impatiently for food at a restaurant, the man said: “I can eat a horse right
now.”
Explain the meaning of this quotation in some details.
aaiivy Jaid o8 Y Lands €050 Lo Ul ey Slad b 7 3y 0 sgd M iy Jl5edl 138 Laialy
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(8) Identify the semantic roles of the seven noun phrases in this sentence:

With her new golf club, Fatimah whacked the ball from the woods to the grassy

area near the hole and she suddenly felt unbeatable.

4o g gall ) ga) yaad G gllaal)

Instrument: her new golf club agent: Fatimah(4S s J=& cwlilesY)  Theme: the ball

Source: The wood Goal: The grassy area

Location: near the hole Experiencer: Fatimah ( a& al s & = Y 3 a1 dleall
(A8~

(9) Use semantic features to explain the reason these sentences sound odd.
L g dsmia dleall ¢ 5S31 4 gllaall A0V Al Cilasdl aas3

a) The chicken studies mathematics.

Subject (+ human)

b) The train will marry Jessica.

Subject (+ human, +male, + adult)

(10) Tell which of the following opposites are gradable, non-gradable, or reversive.
Al yind Ll gl 5 oY Ll s paill A4 LK (g cabiailly patiay J)gaadl 128

a) fill it / empty it reversive
b) absent / present non-gradable
c) old / young gradable
d) fair / unfair non-gradable

(11) What kind of inference is involved in interpreting each of these utterances?
Alaall (e dagd (g3 ZLELY)
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a) Teacher: You can borrow my Shakespeare. (book)

QUSH 58 anSldy ady dleall oda (S

b) Waiter: The ham sandwich left without paying. (customer)

Ot M i 25l ey 2oy

¢) Nurse: The hernia in room 5 wants to talk to the doctor. (person, patient)
Gl Gl (ad 3l ay jal) auals

d) Dentist: My eleven4dhirty canceled so | had an early lunch. (patient)
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(12) Which of these utterances contain “performative verbs” and how did you decide?
speech act Al e

a) | apologize. v

b) 1 bet you $20. v

¢) She won the bet. x

d) I drive a Mercedes. x

e) You must have a lot of money.

f) | testify there is no God but Allah... v/




(13) What would you call two or more words that often go together, as in the word
blond usually going with hair? Give two more examples to illustrate.
Collocations «a =

(14) The Co-Operative Principle was suggested by the philosopher?
o gaalid (Y 3 sm A gl T
Gricean

(15) Each of B’s utterances below would probably flout (ignore) one of the four

maxims.

Say what maxim the speaker is flouting, and give a possible reason for this ignorance.

40l Jaad) b ASLga) al s o) Baad o gllaal)

A. Do you want to go to the movies tonight?

B. My little sister is coming for a visit.

Relation maxim ( o= & 08 O 1 ¥ A cuad (68 B9 Jisadl ABe Lt (ud 4laY))
g e

A. Where are you going?

B. Out.
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